H & 0l & AHS B Ml A

20248 =0ila eI S

a=: NBAUER= SA L KSAITHE 2R
Y NZANNMEEZ (LU DDHE /UBHT)

TRl SHABHLAINEZ (12l M2
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
XILAHE 2 146,294,539 174,792,648 28,498,109
KIZAICHSE 24 1t 12,562,192 1,718,940 10,833,252
NSAIHHE 2 (LSS E /L BHEE) 11,626,647 1,164,930 10,461,717

SIS A=A 11,530,147 980,430 10,549,717
KA S 2= 323,320 0 323,320
201 =3 50,000 0 50,000

01 AtR2t2lt] 20,000 0 20,000
g et+=ZH| 20,000
OXNZAHEH AR FOIS 20,000
03 A= SHI 30,000 0 30,000
OXNSAUHERXAHHESHH 22 30,000
202 04| 9,000 0 9,000
01 2LHAH| 9,000 0 9,000
OXZAIHS =0 9,000
203 gF=4| 4,320 0 4,320
03 A=A 2= 4,320 0 4,320
OX A YR 2AL RS 4,320
308 AHXIEMSOIH 260,000 0 260,000
18 SIS0t oA AS A 260,000 0 260,000
OXNEAUHE I BSHERS 260,000
K-UAIEIZ R 610,000 0 610,000
307 212+01™ 550,000 0 550,000
02 QB AHANEEX 550,000 0 550,000
CK-UAIEI2at28 =855t XI1 & 550,000
308 AHXIHMSO0IA 60,000 0 60,000
01 RSN B EES 60,000 0 60,000
LK-AECIHSEstn 60,000
KUAIEIZ2FAN(XILAZUHEIIS) 10,000,000 0 10,000,000
403 AXIEHHSAH=0lH 10,000,000 0 10,000,000
01 AXISHHA 22 £ 10,000,000 0 10,000,000
OXS A [EH AR X A ME A E 3,000,000
LKUAEIE=atd Xy 7,000,000
FGAZYP L= 214,927 535,530 A320,603
201 et 3| 209,500 409,500 A200,000
01 At22t2l] 9,500 9,500 0
g et+=ZH| 9,500
OFFAILRUSHE MM 5,000
OZSAIHRASE UNSAZE =L 4,500
02 S3=gHl 200,000 400,000 200,000
02322 Al 200,000
OUe2I=AIEXIANE s 282 200,000




od
i’
oF
uJ

=EIONE

F

KIZAICHA
KIZHAICHCH
Stalet

Q-
=.

Al

=

X{XH -

o=
of -

el

218 il el i c1818 218 218188 < el %@wwm 8
oo S|S S|S SIS SlaY|S|S S
I =1E glg |8|8]2|2 SEIEIEIE &
Klo al< IR RGIRY
E
E=)
S8 8188 28 288 e 2888 3 2818 218|°|°|° e
S|S S|o|n w0 S| wlS|S|S S Bln|ln o=
cle |e|=|= |- 18|g|8 3|88 S RN R R
LH3r
<l
RIS
Zﬂﬂmwmmwwmmwwmmmmmmwmmmmmwwmmmmm@@wwmwmmm
SIS S(S|nn v vRn B|9|S & HIS|S S(HIS|9|S & 9 S 5 g|h|n|h BSOS IS S S S S
wle wlg|DiE = 27T T |g|C° S Clglg g8 |o|plk kTSI 999 9yld|8|8]L e ]S
3
<
b=
oir
&)
Bl
a1 _
@l _ = %0
“.aﬂ D ot o
ar él il 1
. o) ulo ar ulo uo | 5 = a0
= = Ok — RT oF oJ Mm._l n_.Mo <+
= Rl ¥ o = ar W 0F Rr <& o o0 Ir Ujo
o] = K R ) ] 20 t W = o1 [ = | Ky Mo 0 o
= = O oK R) ™ 0 0 =g 0 | RO |y |10 o ol =
o Kb 8D oT K |z (B 0| T N P U A
ul o & ™ oF k| |m = _mow o E e R _F
- |z|a @Dz D& AIgs|s = W|s His|p|s|s 2@ & 5 W m|E @) R|lz|lz 3T - &
®l R |R RO |B0 | 00 RO = Rk {80 | W R |=|Uo g0 k|80 | G0 IW I B0 | (Ur GA e o (80| 80 < B T
RO |k [kE ®O[gr|op | 20 & RO|gk|ob (@ b oo || WA |oF|op|A kD0 B0 ooy Mipr D (W RO R U o |A O B0 op <
- |obE Fla|m|ok B |5 (S Va0t D W|Rs V| |z|0k 3R R < 0= (or| - O mwlEr|or|B/|0F DR < X0
T [a|< @|Fr|ar|< O O3 | D fplavj<  O|x|M D @|mist|< ¥ O O & RKign|H|< Blm|s|T|a|< & O & K
¥ [s|s Uir|sis Y |yl Hiwlsls Yo |gle HiE|lis|s U g Hig|gls Ulmla|zlsls @ g
5 v |« 2 o] | N <] IH | D0 | N 0 |~ WH|R0 D0 |
i 0 = 30 | = = Kk | B0 | R
<l =4 0 | M
< =




&0
X 50
IF 3)

all

0

50

Ho

[0

ol

ol

)

K

z)
o
=l w0
%0 It
5 WH

NEN
Rl
235

Q-
=.

Al
=
X{XH -
o=

od
i’
oF
uJ

[l
N
Rl

=aak

W9 818 S8 S8 88 S88 218181818 el el < K1818181|8
[ S|S N o N S|S SIS Sle|e Slele|s|e CIRAR AR AR
m_w (e 3|3 209 e 213 333 RIR|KIK(R y|g|8|8|8
E
E=]
Sl ele gl8|8 218 218 81818 gl18|°(°|° 8188 8 Rl el el el
NIRA N Sk S|S Slale S|e S|S|S S
g |8 °lo |2ld |slglg 8|8 glglg ¢
LHar
i<
RIS
W99mmmmmwmmmmmmmwmmwmmmmmmwmmmwmmmm%mwwmm
M..M“OOO26666000666000000000000000000844444
e eI8|8 8|5|9T @ P2 288 88|88 B|8|B|RIR|R 8 2 |g|g|8 8 | g|y|E8|8|8|1B 8
al
<
b=
0
X0 — —
:
3l ur ur 80 i = &
=3 = R ! 0| = SR i
Ik 3l = =] 3r G ED ] < 0| e
= ot o0 K = W =
< < K0 =1 00 | 30 I 5 o ot o= =
. or K | ob oo | = w30 | g ol ol | = -
= wt ujr 0 D = o =
— oF - Kk &J Al IH ol < <k = Bl Ky w | W nJ
= Rl M A = oF R (1 <I= ool | g R ®(O ol
o] T K 20 H 30 3D ol | o 3l | RO T W57 Fr T ) P o
~ KJ _H__v R _J_l oI 80 pa _u_._ = 60 ol oF 7 _A._ .l__le 0 % nﬂh_ uﬂh_ :l
5 L R L = o o< (o RO g | DN oy | EE )
a ok Wiz Rz _ = = B |51 o0 |H0] | _ o o |z| |em 4 mo 4 |RO[RC =
2 |z|a Ffw|ls Pw|o|z B RI5|s R|5|3|D B2 |z |3 D o oo = KR8 RIg5 e R
®l RI(R)®C = U0 B0 oy |80 | OO0 @ mam___mﬂEM%%Eo(aﬁ@%agojj%&QEMEMM% H <
RO |k |kE RO|0 |/ Wiz |op|m 8| |3 B |=|o0 W (go|ob|oy & |ar || |ob|f0 Sb 48 |4 |/ W oo o (2020 DT 5 Rr @
- forfE B R|s S|E|pio B R|ID|T |+ Oz ®lglr|w|p|t D R RR|AN O EE S (™D ¥
% |3|<x WIR|A K||av|=< ol O|s | K |88 80 |nr|al (& T |[m|zu|fo|at|< W O O|H|al|al W & R|s|5|8]|a |~ K
¥ |s|gs Higle Hiw|s|s Y vz HUisls Ulals|g Ulm|h|s|sls U Wi sl U g Himla|d|s|s U
. s o 8|~ « i o) | Jo| &[4 | 2| B0 0K | &M [+
K ~ K o
i R 3 A= 80 OH | & | o)
<l &= R0 | o)
< =3 [l




2A

HI(KIZFAICHE 24Dt (D164 D1E)

SoT oo

KA 2=
WA S
J|l2&

3l

A=
T ZH -

o™

od
i’
oF
uJ

o

=aak

-

KIO

Hlw

119,49%
119,49%
24,960
24,960

45,336

45,336

10,200
6,600

3,600

39,000

39,000

HMEE
Ofl &k2h

Ofl &F2H

119,4%
119,4%
24,960
24,960
9,600
9,600
15,360
15,360
45,336
45,336
45,336

10,200
6,600

6,600
3,600

3,600
39,000
39,000

10,800
21,000

- B

- 24

- SHRAZA) - HRANY - BES

01 At22te|bl

ol

OANRESEL=E+

0
Mo

01 2L AL

202 04|

K]
KF
oF
oD

R0 I
fir o

R0
0

oF

Rr

R0
0

ok
ol

Rl
Rr

.

K0
=

O

=3

7,200




A& ol & AL S Al A

[ A &

)
oJ

oll
<J

il

A
ol

F

k

O

2024

0H
i’
oF
uJ

%mmmmm m 218 S =
o |lg(g|laslCc|els S el S 8|S 3188
n NERCARe ] ] - olala e|e o
Klo - J14 J 218 = m oo glofe
E N N = S48 = S
D <
HEE
W8&mmm g g8 e 31818 Slsls
) > | S oy}
Emﬁﬂw%mﬂ%m S S| | o | o e el e SIS 818 S8 sls
m | ¢ el Al 3|8 |3 < | < Sla i o,o,m
s = sle  |8|8|s
SEREEEEEEEEIBEEEEREE
(RO Oe|e © o o O O S K8
)[R R 8 233 ¥ & > 2 oo le 2 <2 S|I¥|8 818
I E: . mmzmmmwwmwmmwwwmwmommsommmmmmmm
2 == S8F slole wis|e Slg|8|s
=3
oir
)
B
2
< <0
I+ 3 = o iy
=3 RO - D = =
. B < o a 2 < 0o &
= o) Ll = == |2 = <+ e of
= o U 0 o o < < o O v
> 0 Zom 0 03 ) 2 0
F o0 K KWoBl Kk A S R = al % o |_Jﬁ = ol R KF = -
prd Do — _|_._ = _|_M _.A._ _x_._| _I,_ e} == M = 110y ol — foX <0
0J [0 o H iy Kl U0 &I = | = M Wz ol K4 <J oK { o D o i =<
0 Do for| |3 M oa T M TS % o ™Moo D4 KW o (I TR I I - o
= 7l B I = T T T ool s Mz |a Rk woom R |k 20 = K]
» Aolmle|lo T = o Kfup g o 00 = W05 (= K R _ & _ 35 L < |s0 |® |
RO Lm0 I < @ W 3= 03 Ll T I e L =R S o L . FllS |z
. x___ATAmmoa__Hcoxo%m+r++%ﬁ__AI__&MO@ D o m oD & |pla Wimir & 0| |0
KE [0 | o |~ [~ W= <ol Ui ol (ol =< Ms__ 7 R |S|R ® )l WM .D.m\_ &_w Mm ﬁ_u\_nw__. R0 RO =)= M | =X =r o__u ~J | Ul | ®o
x @MEEBHJ%S&WWW_M:.EJJ_ﬂuArz [E S I o o ol S (R = ®OTRE = =
I+ S AERE: 2 R OIRIR & B H o A X g |2 |0 B0 of U oo) D)ool & o= RO ffo (Mo RO (o |G
: mioawwmmmmm%mmmsmwmammOEiIooTooammt@amfog;m_xcx_
o | R [RO|T R <! - RIS|S Jlsl|s ] O 0 < a ol [0 o |H | o | |= |
a |R|r|e =1 L 218 Hlgl= Ylgls D|¥|8|s
L T = R ® S°  [n|8|°
3 R0




A3 USAZH= A PHY
o QIPFBALFTE (U DIHEY /ULIHT)
Rl QIAEIAIE S (SH9 H2)
A= 2A - 3. SR(3) - MIRAY - BES Ofl &k2d Oaﬁg% HnsZ
EEEEEEEER 30,000
SESUBRS 100,000 0 100,000
207 AN 100,000 100,000
01 i E A 100,000 100,000
OR&32mB7S 100,000
OIPEAZX (UL TTHTY/UBIHY) 14,134,600 41,802,848 N27,668,248
olpEe =X 4,025,000 31,693,248 27,668,248
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201 YEHRAY| 45,000 25,000 20,000
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SH A 225} 3,020,467 6,358,656 A3,338,189
FENE=RIIIEH 190,000 601,000 A411,000
201 2| 10,000 10,000 0
01 Ar22eltl 10,000 10,000 0
O eh=2H| 10,000
OFEAFHAXA3NEZRIS 10,000
308 AXISHMSOIA 180,000 591,000 A411,000
01 AXESHHZAEEZ 180,000 591,000 A411,000
OFFgelEEII19 XA 180,000
CHEHL X2 EHAHE KR (21X EXH) 275,000 255,000 20,000
308 AtXIHMSOIH 275,000 255,000 20,000
01 AXIEHZAEXS 275,000 255,000 20,000
Oisre Xtel S AN X2 275,000
stsHAN 275,000 350,000 275,000
307 QI2H0l M 275,000 350,000 A75,000
02 QIRHEAAIHE X 275,000 350,000 A75,000
OsAJ g LsrsEHRJ 275,000
I FGEAH LS USSXNA (IR X)) 170,000 141,000 29,000
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13 SI |2 SHICHEH B A X L EFALH] 308,210 418,000 A109,790
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OZE012HE0ISAHAHZ AL X2 EEA
(&el) 70,000
OZ=0120HE22 ol THY LAY 50,000
308 KXISHMSOIH 951,634 840,549 111,085
01 AXIEHZLAExS 951,634 840,549 111,085
OZ20I8HA0ISAHHZ AL K2 EEAL
(=0I&04) 370,000
OO ssssd T2 O3 172,944
OC2SIE=SRIAE SAL A=Y 388,080
OCH2SISAIE SAMR=S X EZIEX|J 13,560
OZ=012HE s 7,050
ZSTIHOIFHEESAIE2Z XA 704,037 660,318 43,719
308 AHXIHMSOI & 704,037 660,318 43,719




(crel &)
SA B - BRA(E) - MISAY - BES ofl &4 G o HIDEY
01 HXSHH B E2ES 704,037 660,318 43,719
OZSLoH0I=HE2SAIE2E X 704,037
ZHTH0IFHEESAIE S 2| 15,227 8,865 6,362
403 AXIEHMSA=0ld 15,227 8,865 6,362
01 A= 2L 15,227 8,865 6,362
O=HUoH0IF0EESAIdtdEd 15,227
G232 nSAIS S (AHH) 50,760 50,760
308 AHXIHMSO0IA 50,760 50,760
01 XN EES 50,760 50,760
LG22 ELEXNEAIZS KA 50,760
ChE3EXIAEH 2 611,199 484,348 126,851
307 212t01™ 50,200 47,600 2,600
10 Al SXAIEEHE2EHI2x 50,200 0 50,200
OAEHE2E 50,200
308 AHXIEMSOIH 560,999 436,748 124,251
01 MK N ELS 560,999 436,748 124,251
L2t EXHEHZ2SE 560,999
LIRS detAtY 3,495,978 4,296,802 800,824
307 212+01& 68,200 0 68,200
11 AR SXIAIEE X 68,200 0 68,200
OO2sIEELSMS (Z4H) 68,200
308 XXM SO0l 3,427,778 4,296,802 A869,024
01 HXEHH B E2ES 3,427,778 4,296,802 869,024
Utz ESdetArd 3,427,778
I ERRABIXIXIA 52,000 52,000
308 AHXIEMSOIH 52,000 0 52,000
01 AXHHBAELS 52,000 0 52,000
OAt2 SR BIXIXIA 52,000
&t SZH(A=2BSHI) (DIEH/IIE 53,472 0 53,472
ZHl 53,472 0 53,472
=24 53,472 0 53,472
201 LBt 18,720 0 18,720
01 AtR2telbl 18,720 0 18,720
et~ 7,200
OANRESESHL=578H 7,200
L=l 11,520
Oge=agalt] 11,520
202 04| 31,752 31,752
01 =LHNHI 31,752 31,752
Oge=a04tl 31,752
203 gR=8| 3,000 0 3,000
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